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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1.In Figure, if P is (2, 4, 5), find the coordinates

of F.

o Watch Video Solution

2. Find the equation of the circle with center

( — 3, 2) and radius 4

o Watch Video Solution



https://dl.doubtnut.com/l/_1u9qoTC7RtEw
https://dl.doubtnut.com/l/_0BwBG0glNpPA

3. Find the distance between the points

P(1, —3,4)and Q( — 4,1, 2).

o Watch Video Solution

4. Show that the points ( — 2,3, 5), (1, 2, 3)

and (7,0, — 1)are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_oe1QZtQ1VykB
https://dl.doubtnut.com/l/_cu5AVcjgIdhF

5. Are the points
A(3,6,9), B(10, 20, 30)and C(25, — 41, 5),

the vertices of a right angled triangle?

o Watch Video Solution

6. Find the equation of set of points P such

that PA? + PB? = 2k?, where A and B are

the points (3, 4, 5)and (1, 3, 7), respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_nfCZ9FtHOO7n
https://dl.doubtnut.com/l/_I2MaWas91eiS
https://dl.doubtnut.com/l/_h67jpLLDx0I2

7. Find the coordinates of the point which
divides the line segment joining the points (1,
5, 3) and

(-2, 3, 4) in the ration 3:4 (i) internally, and (ii)

externally.

o Watch Video Solution

8. Using section formula, prove that the three
points ( — 4, 6, 10), (2, 4, 6)and (14,0, — 2)

are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_h67jpLLDx0I2
https://dl.doubtnut.com/l/_Ro5Q8CC9tl5i

9. Find the coordinates of the centroid of the

triangle whose vertices are (z1,y1, 21),

($27 Y2, z2)and (333, Y3, Z3)‘

o Watch Video Solution

10. Find the ratio in which the line segment
joining the points (4, 8, 10)and (6, 10, — 8)is

divided by the YZplane.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ro5Q8CC9tl5i
https://dl.doubtnut.com/l/_wqGSFe4gZi7J
https://dl.doubtnut.com/l/_KKqFMiODrisL

11. The centroid of a triangle ABC is at the
point (1, 1, 1). If the coordinates of A and B
are (3,5, 7)and (1, 7, 6), respectively, find the

coordinates of the point C.

o Watch Video Solution

12. Find the equation of the set of the points P
such that its distances from the points

A(3,4,5)and B (2, 1, 4)are equal.

l o Watch Video Solution


https://dl.doubtnut.com/l/_KKqFMiODrisL
https://dl.doubtnut.com/l/_RVo3XvVPhXEK
https://dl.doubtnut.com/l/_HFM7IhNGumZ9

13. Show that the points
(1,2,3),(—-1, —2, —1),(2,3,2) and (4,7, 6)

are the vertices of a parallelogram.

o Watch Video Solution

Miscellaneous Exercise

1. If the origin is the centroid of the triangle

PQR with vertices P(2a, 2, 6), Q(4, 3b, 10)and


https://dl.doubtnut.com/l/_HFM7IhNGumZ9
https://dl.doubtnut.com/l/_OPtNRo9DIDfK
https://dl.doubtnut.com/l/_xOUY8roqa6uP

R(8, 14, 2¢), then find the values of a, b and c.

o Watch Video Solution

2. Find the lengths of the medians of the
triangle with vertices A(0, 0, 6), B (0, 4, 0)and

(6,0, 0).

o Watch Video Solution

3. A point R with x-coordinates 4 lies on the

line segment joining the points


https://dl.doubtnut.com/l/_xOUY8roqa6uP
https://dl.doubtnut.com/l/_7FvWcYs92EgU
https://dl.doubtnut.com/l/_zOpOQHZFl1fH

P(2, — 3,4)and Q(8,0,10).  Find  the

coordinates of the point R.

° Watch Video Solution

4. Find the coordinates of a point on y axis
which are at a distance of 54/2from the point

P(3,2,5).

° Watch Video Solution



https://dl.doubtnut.com/l/_zOpOQHZFl1fH
https://dl.doubtnut.com/l/_TYDS5QIcQ4kG

5. Find the equation of set of points P such

that PA? + PB? = 2k?, where A and B are

the points (3, 4, 5)and (1, 3, 7), respectively.

o Watch Video Solution

6. Three vertices of a parallelogram ABCD are
A(3,1,2), B(1,2,4)and C(1,1,2). Find the

coordinates of the fourth vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_MqKT2sMyJR7m
https://dl.doubtnut.com/l/_6EsfynD2W8TN

1. Find the equation of the set of points which
are equidistant from the points (1, 2, 3)and

(3,2, 1).

° Watch Video Solution

2. Find the locus of the point, the sum of
whose  distances from  the  points

A(4,0,0)and B( — 4,0, 0) is equal to 10.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_1fKtIn1v36dG
https://dl.doubtnut.com/l/_dHHnK7WTfmOA

3. Show that the points ( — 2, 3, 5), (1, 2, 3)

and (7,0, — 1)are collinear.

o Watch Video Solution

4. Verify the following:(i) (0,7, 10), (1, 6, 6)
and (4,9, 6)are the vertices of an isosceles

triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_dHHnK7WTfmOA
https://dl.doubtnut.com/l/_95LSiNPIpTOX
https://dl.doubtnut.com/l/_uumJLiws1ILd
https://dl.doubtnut.com/l/_DBNx75W027IS

5. Find the distance between the following
pairs of points:(i) (2,3,5)and (4,3,1) (ii)
(3,7,2)and (2,4, 1)(iii) (1,3,4)and (1, 3,4)

(iv) (2,1, 3)and (2, 1, 3).

o Watch Video Solution

1. Find the coordinates of the point which

divides that line segment joining the points


https://dl.doubtnut.com/l/_DBNx75W027IS
https://dl.doubtnut.com/l/_lfByfKgJmkCN

(-2, -2, -2) and (1, 4, 6) in the ratio (i) 2 : 3

internally, (ii) 2 : 3 externally.

° Watch Video Solution

2. Find the ratio in which the YZplane divides

the line segment formed by joining the points

(2,4, 7)and (3, 5, 8).

° Watch Video Solution



https://dl.doubtnut.com/l/_lfByfKgJmkCN
https://dl.doubtnut.com/l/_OiD6kkUmgHNb

3. Given that P(3,2,4), Q(5,4,6)and
R(9, 8,10)are collinear. Find the ratio in

which Q divides PR.

o Watch Video Solution

4. Find the coordinates of the points which

trisect the line segment joining the points

P(4, 2, 6)and Q(10, 16, 6).

o Watch Video Solution



https://dl.doubtnut.com/l/_YYsleUA3K1Tb
https://dl.doubtnut.com/l/_oYbRsf2Y3mBy
https://dl.doubtnut.com/l/_AiUcvL16oCN9

5. Using section formula, show that the points

1
A(2, —3,4), B(—1,2,1)and C’(O, 3 2)

are collinear.

° Watch Video Solution

1. Fill in the blanks:(i) The x-axis and y-
axis taken together determine a plane known

as (i) The coordinates of points in the

XY-plane are of the form (iii)


https://dl.doubtnut.com/l/_AiUcvL16oCN9
https://dl.doubtnut.com/l/_B4CSsijncEU6

Coordinate planes divide the space into

octants

° Watch Video Solution

2. Name the octants in which the following
points lie:(1, 2, 3), (4, — 2, 3), (4, — 2, — 5),
(4,2, —5), (—4,2, —5), (—4,2,5),

(=3, —1,6),(2, —4, — 7).

o Watch Video Solution



https://dl.doubtnut.com/l/_B4CSsijncEU6
https://dl.doubtnut.com/l/_TjXYZOluTSNr

3. A point is in the XZ-plane. What can you say

about its y-coordinate?

o Watch Video Solution

4. If a point lies on X-axis, then what are its y

and z co-ordinates ?

o Watch Video Solution



https://dl.doubtnut.com/l/_PU6WL3TS6AIa
https://dl.doubtnut.com/l/_WxxTb1lCw6Az

